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1. HEREH X Fo X B8 LE4E R IHMMA(meHA
M(z,,2,)=(0.8¢" +0.2)° exp(2c” -2) + R £
(7%) (a) P{ X, X,=0} =7
(7%) M E[(X, - X,)°|=?

2. MRS X X, P AR N, - OO AREE RS BH Sk
#(cdf) » 4 ¥, =min(D(X,), -, DX, ))& Y, =max(P(X,), -, D(X,}) » BK

(7%) (a) Y, FuY 10 EEE HH (jpdf)?

(7%} (b)) R=Y Y th#E FH Z¥ (pdf)?

3. SR X, X, MGt 4RAR 4 Bernoulli(p) » N AR4E Poisson(A) -
4 M=max(X,, -, X,) » &KX

(7%) (a) PM = m}=?

(10%) (b) E(M)=? #v Var(M)=?

4. Brwhs—2ERF ok X A% iRdheaso K

(%) @ Tim ([]X)"" =2

100

(8%) D) P{[ X, <2'™eoxiit @ A? (A BHELXHFT)

5. HREASE X X, M5B A MM Poisson(1).4 G=e" -

(7%) (a) BK O 47K EH B2 % A 84 CRLB?
(7%) (b) K Oty — & )% & K543 F(UMVUE)?

(7%) (c) 46 & 6 ¢4 & A2+ (MLE) » 3£ E(9)?

6.EMMB R X -, X FB K EXP(O)

(7%) (a) HE PX>1)= 7785 100(1- 2 )% B FR?

(%) (b) REH, 0<O,HH, 0>0,68—%EKH 7 Z(UMP test) ?
(7%)(¢) BEH,: 0<6, ¥4 H, :0>0, 5k £t £ (GLR test) ?




